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HoOfl =%

THXy « T - R - 5 Mo % FREAL K B G EHAm & M| T2 (BB
AL [EIE
= 1 137, 240, 669
AR T
= 1 6, 288, 540
Sl AR T
= 1 6, 288, 540
AHEERI I M TAT 7V MEREERR &% 40mm 1,070m
(1) #E— s
= 1 692, 932
EEERR BT TAT7WMEHEERR BHEE)E 100mm 33m
(2) GITFH(A<W=8)
= 1 21, 370
AR BT TAT7WMEHEERR BHEEIE 150mm 130m
(3) BIFHLE(B<W)
= 1 84, 188
AHEERI N M TAT 7V MEREERR &3 250mm 1, 330m
(4) HIEHD
= 1 2, 400, 650
LB ATV MEHSERE t=4cm
(1)
m2 420 2, 407 1,010, 940
iR TAT7VMEEERR t=10cm
(2)
m2 12 3,045 36, 540
Al AR A TAT7VMESERR t=15cm
(3)
m2 50 3,576 178, 800
RO TAT7VMESERR t=25cm
(4)
m2 560 3, 327 1, 863, 120
BRI+ T
= 1 16, 981, 530
I T
= 1 10, 484, 700
R Iz 1, 300m3
= 1 8, 206, 900
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THXSy « T - FER - 5] B % FREAL K & G EHAm & M 2 (BB
o Hb S E +w 700m3
(1)

= 1 2,277, 800

HELTL

= 1 4, 436, 800
WE L - filE D +w 110m3
= 1 835, 120
HEEL - fFE D gD 430m3
UK D)
= 1 3, 601, 680
7R ALEE T
= 1 2, 060, 030
T Hb S E 700m3
(2) BmM
= 1 1,977, 500
Rt Rt AN TR 700m3
B
= 1 82, 530
EARILETE T
= 1 71,164, 171
7 VERANE 9 )AL (RERRER)
= 1 33, 936, 692
R R T #EA 1A
(1) 1200 1800 X 3500
T T 3 1, 546, 043 4, 638, 129
R R FOEA 1A (5 FEERBA 1
(2) 1200 1800 X 4000
T 1 1,771,470 1,771, 470
R R FOEA 1A BRINTBA 1 R
BHOL
(3) 1200 1800 X 4500
T 1 2,114, 630 2,114, 630
R R T FOE A 1A (T HEERBA 1
(4) 1200 1800 X 4000
T 1 1,771,470 1,771, 470
R R T SEA A
(5) 1200 1500 X 3500
T 2 2,193,118 4, 386, 236
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THXy « T - R - 5 Mo % LFEAL B G EHAm & T2 (BB
R X HOE A LA 5 B BA 1
(6) 850X 1800 2000
T 1 940, 038 940, 038
R X SEA TR
(7) 1200 1150 X 2200
T 1 1, 282, 285 1,282, 285
R X FOEA 1A (G HEERBA 11
(8) 1200 1800 X 4000
T 1 1,771, 470 1,771, 470
R X TE1E Bt
(9) 500X 1050 X 2000
T 4 7717, 493 3,109, 972
FAN K IR 1000 X 600 X 650
T 1 144, 656 144, 656
FEREGR
= 1 3, 204, 025
AR AN B 710X 995 X 2250 HijfE B 1900 X 45
0
(1)
T 2 1,176, 417 2, 352, 834
el Y VAN Rl 395/710 X 995 X 2250 EEHHBH 900
X 450
(2)
T 1 1, 615, 405 1, 615, 405
el Y VAN Rl 395X 995 X 2250 ELHBH 1900 X 45
0
(3)
(&30 2 768, 914 1,537, 828
7 Gyt 450 X 500 X 900
T 6 269, 964 1,619, 784
VAN 600X 600X 750
(1)
T 6 177, 147 1, 062, 882
VAN 600X 600X 1350
(2)
T 3 204, 526 613,578
BT (E L)
= 1 37, 225, 194
B BAE ¢ 130 HLEF
(1)
m 171 4, 839 827, 469
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R BEIVE ¢ 130 HhE
(2)
m 15 6, 353 95, 295
PR & ¢ 130 fAIFEPE
(3)
m 1,022 4,098 4,188,156
HIERE ¢ 100 ELE
(4)
m 341 4,102 1, 398, 782
R EIVE ¢ 100 HiE
(5)
m 30 5, 702 171, 060
PR & ¢ 100 fHIFEPE
(6)
m 1,983 3,676 7, 289, 508
HIERE BEE K7 4E BHE 2500 SR
B (¢ 50%95%, ¢ 30%25%)
(7
m 75 17,970 1, 347, 750
HIERE BEE K748 i 250 SR
B (¢ 50%95%, ¢ 30%25%)
(8)
m 10 39, 591 395,910
RS I WEE K7 EE 200 X
B (¢ 50%65%, ¢ 30%25%)
9)
m 253 11, 873 3,003, 869
HIERE BEE K748 E 200 X
B (¢ 50%65%, ¢ 30%25%)
(10)
m 58 25,919 1, 503, 302
RS WEE K78 EE 200 =X
B (¢ 50%55%, ¢ 30%25%)
(11)
m 140 11, 590 1, 622, 600
HIERE BEE K748 E 200 X
E (p50x65%, ¢ 30%25%)
(12)
m 27 25, 636 692, 172
RS WEE K7 EE 200 =X
& (¢50%65%)
(13)
m 9 11, 499 103, 491
HIERE WEE N7 E BE 0200 XX
B (¢ 50%65%)
(14)
m 0. 25,536 15, 321
HIERE BEE (FAE) ¢ 160 B
(15)
m 500 5, 905 2,952, 500
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4,399

1,887,171
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576, 268
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3,594
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=R
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4,098

290, 958

5
;
=
=R

(24)

+ Bl3A) ¢ 100 f4%IFE

21

3,676

77,196

5
;
=
=S

(25)

E
al
B
1
3

el
e

+ Bl3A) ¢ 100 f47IFE

48
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176, 448
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- 5lA) ¢ 75 EHE
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4,399

171, 561

5
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=
=R

- 5l3A) ¢ 75 Wi

29

7,484

217,036
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EIE ¢ 130k

1

184

369. 6

68, 006

EIE ¢ 100k

15

276

377.8

104, 272
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TRy - T - A% - A5 b S BB K B A A A HE (G R

HRE K2 A WEE ¢ 2501 L
3)

1@ 90 635. 2 57, 168
HRE K2 A WEE ¢ 2001&
(4)

1@ 500 509. 2 254, 600
HRE K2 A WEE ¢ 150%&
(5)

1@ 297 405. 2 120, 344
HRE K2 A WEE ¢ 100/&
(6)

1@ 92 317.6 29, 219
HRE K2 A WEE o T5AEM
()

1@ 469 218.1 102, 288
Dy g WEE KA ¢ 250
(1)

PN 2 67, 171 134, 342
Dy A BEE KA ¢ 250
(2)

PN 2 60, 326 120, 652
Dy A WEE KA ¢200
3)

PN 11 49, 283 542,113
Dy A& BEE KA ¢200
(4)

PN 11 41, 160 452, 760
AN WEE ¢250
(1)

PN 2 36, 232 72, 464
AN WEE ¢200
(2)

PN 11 27, 105 298, 155
ES/RUF i ES ¢ 150

PN 12 8,323 99, 876
U7 sulf iAo WEE 650
(1)

PN 160 1,232 197, 120
U7 Sulf iAo WEE 630
(2)

PN 48 860. 6 41, 308
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| TE (BESM
R FR RV W=400
m 1,711 458.1 783, 809
Bt gkai 500L X 1028W X 16t
bie 16 44,911 718, 576
TEHR LB T
= 1 2,285
Bl A db A B 0.2t
=N
= 1 2,285
A% T
= 1 29, 687, 035
8 IR T
= 1 13,719, 471
RAE 1A (1) t=24cm(As t=4cm)
HATE —
m2 393 4, 909 1,929, 237
RAE1H (2) t=35cm(As t=10cm)
Y TFE(4<W=8)
m2 12 8, 830 105, 960
{RAE1H (3) t=45cm(As t=15cm)
B THEL (8<<W)
m2 50 11,919 595, 950
RAE 1H (4) t=100cm (As t=25cm)
HEHEL
m2 551 20, 124 11, 088, 324
1 B
= 1 4,113,115
hegreEll A YHI6enz B 2 12cmPL T B
TV O MEEER
m2 2, 280 753.1 1,717, 068
AE M (B i B
m3 228 3, 435 783, 180
PRanRiiig TAT 7 bk (BEHIEA)
m3 67 4, 460 298, 820
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THXy « T - R - 5 Mo % LFEAL B G EHAm #H TE (BESM
ALy 7A7 7 bk (BIHIEA)
(1)
m3 228 4,503 1,026, 684
ALy TAT 7 bk (BEHIEA)
(2)
m3 67 4, 289 287, 363
AN VAT
= 1 9,957, 429
a2
m2 2,100 3,991 8, 381, 100
itk A LB
m2 181 8, 709 1,576, 329
Ay R i
= 1 1, 897, 020
ATy e B
m2 270 7,026 1, 897, 020
Bkt 1
= 1 1, 379, 664
Ll
= 1 1, 379, 664
LU (1) —f%EB 400X 500 FEF
m 80 13,936 1,114, 880
LU (2) B FER 400X 500 FF
m 18 13,936 250, 848
LU (3) BRFER 400X 500 FF
m 1 13,936 13,936
B3 1
= 1 1,361,976
FEARIBA AT L
= 1 1,361,976
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T Xy« LA - AR - A0 PSR - BHEAL B & A HU i HZ (BB
B =h V- BAEAL Gr-B-2B 21moKHE HhARES
i 1 A
m 18 14, 337 258, 066
AR NV Gp-Bp-2E %35 100mbd k- #hifR
A 1
m 186 5,935 1,103,910
X L
= 1 509, 519
LT N
= 1 509, 519
VRl =X TR A TFE) EHR 15em JE 1. 5mm
B2
(1) B
m 620 412 255, 440
VRl =X TR R FE) JERPA 15em JE1.5
mm HEKHEEIEEA
(2) B
m 31 522.6 16, 200
Rl =X TR WX TE) R 15em 21, Smm
B LA
(3) B
m 180 435.7 78, 426
VRl =X TR WX TE) AR 30em JE1. Smm
PR PR
(4) B
m 56 781.2 43, 747
Rl =X TR WX FE) 7777 45em JE1. Smm
B LR
(5) JB-H
m 18 1, 065 19, 170
VAR X R R E) RE1-3E 5 0T 15em
BE 21 5mm PEA e
(6) JB-H
m 110 877.6 96, 536
HEEPE L
= 1 1,837, 656
By A 2 1
= 1 1, 148, 220
R E i E VA )
m 18 5,014 90, 252
B O = N 477)
m 186 5, 688 1, 057, 968
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| TE (BESM
Pk T
= 1 689, 436
LU (1) fi s —f%EB 400X 500 FEF
m 80 6, 964 557, 120
LU (2) fi s B FER 400X 500 FF
m 18 6, 964 125, 352
LU (3) fit s BRFER 400X 500 FFF
m 1 6, 964 6, 964
Gan
= 1 8, 030, 578
- 8F - B T
= 1 4,579, 194
RS RA (FERRIE AT
= 1 4,579, 194
ARME T
= 1 3,451, 384
R EE R B 5AR
AR
= 1 86, 885
R EE B 4AH
B /&
= 1 60, 744
AW B 35N H
ATIH
= 1 911, 960
AR B B 105 A H
B[H
= 1 2,391, 795
[EEPIE % ¢
= 1 137, 240, 669
Bl TE
= 1 18, 053, 365
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| TE (BESM
B3 S
= 1 3, 240, 001
T
= 1 286, 821
R R R 26
= 1 196, 404
IR TR 7.2t
= 1 90, 417
s By
= 1 53, 664
T B fite i H AT I ERCE
= 1 53, 664
BIGREET (K3 L)
= 1 2,899, 516
HIBGERE (FE L)
= 1 14, 813, 364
Wi
= 1 155, 294, 034
B
= 1 58, 426, 587
T AT
= 1 213, 720, 621
— R
= 1 32, 706, 367
= 1 73,012
TS
= 1 246, 500, 000
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THXy « T - R - 5 Mo % FREAL K B G EHAm & M| TE (BESM
THEBLFH Y %H
= 1 24, 650, 000
TH#&G
= 1 271, 150, 000
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